2004 Georgia Junior Classical League Derivatives Examination

Print your full name, school, and the number of years you have studied Latin, on the
answer sheet. Fill in the first four blocks of the answer sheet with your own four digit code,
then the next four blocks with the code for the exam. Fill in completely the space on the
answer sheet corresponding to the correct answer for each question (do not write on the exam

itself).

I. Which English word is derived from the given Latin word?

caput
Seco
dicere
sum
ago
teneo
fero

cura

o B8 o oEN Th g B3 B =

volo
10. cor
11.

12. amor

audeo

13. malus
14. cado
15. sequor
16. pello
17. annus
18. equus
19. facio

20. vis

a) capture

a) intersect
a) dedicate
a) summary
a) agrarian
a) intense

a) inference
a) curtail

a) malevolent
a) corner

a) audit

a) amoral

a) mall

a) December
a) secede

a) pull

a) anniversary
a) equation
a) fiction

a) vice

b) capitulate
b) persecute
b) dignity

b) presumably
b) counteract
b) pretend

b) ferule

b) accurate
b) devolve

b) corset

b) audible

b) amorphous
b) malice

b) decide

b) procession
b) compile
b) annul

b) equestrian
b) face

b) violent

¢) incapable
c) sect

¢) predict

¢) summit
¢) acid

¢) content
¢) ferric

¢) concur

¢) volume

¢) cordial

¢) audacity
¢) amortize
¢) mallet

¢) declinable
c) section

¢) repel

¢) unanimous
¢) equilateral
c) fix

c) vitiate

II. Which word does not contain the prefix found in the other words?

21. a) ascribe

22. a) execute

b) avert
b) efficient

c) allocate

c) expel

d) capsule

d) execute

d) indicate

d) absence

d) acrimony
d) extent

d) ferment

d) curb

d) voluble

d) unicorn

d) auditory
d) amorous
d) male

d) deciduous
d) consecutive
d) impediment
d) inane

d) equanimity
d) finish

d) visit

d) assimilate

d) evening




23,
24.
25.
26.
27
28.
29.
30.

a) composite
a) offer
a) inject
a) conjugate
a) avert

a) ablative

a) nonconformist

a) object

b) collect
b) obelisk
b) ingrain
b) comic
b) adopt
b) abduct

b) nonaggression

b) offer

c) current
c) obstruct
c) ignoble
¢) compose
c) advent

c¢) abnormal

¢) occlude

d) conduct
d) oppress
d) impel

d) cooperate
d) attract

d) able

¢) nonagenarian d) nonlegal

d) ostracize

II. Which word does not contain the same Latin root as the other three words?

31.
32.
33.
34.
35.
36.
37.
38.
39,
40.
41.
42.
43.
44.
45.
46.
47.
48.
49.
50.

a) union

a) local

a) emanate
a) agile

a) fugue

a) implicit
a) chapter
a) predict
a) passive
a) visual

a) secure

a) centipede
a) future

a) mentality
a) relative
a) senile

a) manicure
a) sedative
a) exponent

a) vestige

b) undulate
b) dislocation
b) manoeuvre
b) agenda

b) centrifugal
b) comply
b) decapitate
b) induction
b) patron

b) visceral

b) intersect
b) pedal

b) essential
b) demented
b) legislate
b) sentry

b) manhandle
b) president
b) potential

b) vestment

¢) uniform
¢) elocution
¢) manipulate
c) attractive
¢) fumigate
c¢) implacable
c) precipitate
¢) transducer
c) passion
¢) provident
c) section

c) peddle

c) present

¢) lamented
¢) lateral

¢) senior

¢) manipulate
¢) sedition
¢) posit

c) vestry

d) disunity
d) locale

d) emancipate
d) transact
d) refuge

d) complicated
d) caption

d) reduce

d) patient

d) evidence
d) insect

d) pedestrian
d) summit

d) mention
d) elated

d) senate

d) manuscript
d) session

d) dispose

d) invest




